MG 51| A &5 88 2 {R 98 &L

MG# 51l & & it 2

SEREMH

RELEBIR(FA)
WHBEELL(SDBEECBES) EHIRAICB)
SR EBITRANE

20, 25, 32, 40, 50, 63F{I{L T
BEIEOBINESERBTE, HEEA

ERasE —
N ERAFHILBRPISEOHE, BBIR

REERE DR
BAI: 48 (N)
AL FEF EH ZEER S EE 51 (MPa)
K& B AR (mm*) 01| 02 03 04| 05/ 06 | 0.7
BHEE) | 314.0 - 16.7 | 47.1 | 785 | 109.9 | 141.3[172.7
20 8 SIAEE) | 263.8 - 57 | 32.0 | 5684 | 848 | 111.2|1375
/g@juaﬂau 3140 | 31.4 | 62.8 | 942 [ 125.6|157.0|188.4 | 219.8
! | #1BI| 2638 | 26.4 | 52.8 | 79.1 | 105.5 | 131.9]1568.3 | 184.7
HPHEEE) | 490.6 - 246 | 73.7 [122.8]171.8|220.9269.9
25 10 SIAEE | 4121 - 89 | 50.1 | 914 [132.6]173.8|215.0
,g@j\ﬁﬁu 490.6 | 49.1 | 98.1 |147.2|196.2 | 245.3 | 294.4 | 343.4
: [ #IBI| 4121 | 412 | 82.4 | 123.6 | 164.8|206.1 | 247.3 | 288.5
#HEESE) | 804.3 — 40.2 1 120.6 | 200.9 | 281.3[361.7 | 442.1
39 12 SIAEE [ 691.2 - 17.6 | 86.6 | 155.7 | 224.8 | 293.9 | 363.0
,g@j\ﬁﬂélﬂ 804.3 | 80.4 |160.9241.3|321.7[402.2 | 482.6 | 563.0
SRR 6912 | 69.1 | 138.2 | 207.4 | 276.5 | 345.6 | 414.7 | 483.8
JPHEEE) | 1256.6 - 62.8 | 188.4]314.0|439.6 | 565.2 | 690.8
20 16 SIAEF | 1055.6 - 22.6 | 128.1]233.6[339.1 | 444.6 | 550.1
a5 Pl | 1256.6 | 125.7 | 251.3 | 377.0 | 502.6 | 628.3 | 754.0 | 879.6
f HI/AI| 1055.6 | 105.6 | 211.1 | 316.7 | 422.2 | 527.8 | 633.4 | 738.9
50 20 & P/l | 1962.5 | 196.3]392.5 | 588.8 | 785.0 | 981.3 |1177.5[1373.8
1Al | 1648.5 | 164.9 |329.7 | 494.6 | 659.4 | 824.3 | 989.1 |1154.0
63 20 &8 Pl | 3115.7 [ 311.6 | 623.1 | 934.7 |1246.3|1557.9/1869.4/2181.0
HI/AI| 2801.7 |280.2 | 560.3 | 840.5 [1120.7/1400.9/1681.0/1961.2

ZTE R AL E

MG: RIFRIIESN)

MSG: KITRELESNHPHR)
MTG: RIMRELESSIAL
MGD: XKIFFREL(Ea=ENR)
MGC: ¥{TRiLESRETFL)

MGCD: #(fIRil(EmiEsEETFL)

EREEHRNATE
WEESEEANEREE. JANREETE

REWERGER Y A

TEPEHE2IK, BERRLNIBNREL
ESRIBEEMRNLT, BRABEOMN SRR MR REL;
3. EAREX, BED, AEEKE. BE. RENES, RILBRE
W 2EI5EBRE;

RiIIEAEEN, WRBHREENEY, FHLEFYENRIIAN;
KELEAN BR800 umEl DENERE S TEE;
AERBIRE T, BREFURERE, MHLERRPEIKDRE;
SRELEARNBEEEGES, EBNRRERER), BHNE,
URELBAELMIBEREL;

BTAOES, SRSENSEMBPERBRMTRRN. IR
TEORRRNEH;

SRR TREBENEA, 2ERRENE, EFROBNNHEER
1B, ’Jehim: M. BEAIHFE.

(<o}
s




7 55 8 3% {8 98

AIl'TALC

MG 5
b
A& (mm) 20 | 25 [ 32 | 40 50 | 63
MSG/MTG ESF)HY _
FEAT, MG/MGD (e -
MGC/MGCD sanEEn
IENE TERME40 p M EEBER)
FREE =i 0.15~1.0MPa(22~145psi)(1.5~10.0bar)
DEE B 0.2~1.0MPa(28~145psi)(2.0~10.0bar)
RiBMET] 1.56MPa(215psi)(15bar)
TERE C —-20~70
FREEE mm/s 2F)Al. 30~800 EFPAL. 50~800
TERAERE 0~150+)0 >150+}5
EER OJiEEE. phER BEE
o BEOR | TREEL M5 x 0.8 | PT1/8 PT1/4
o 0E1  [prEnEEh PT1/8 -
MGCD VRN BESFRBEPTS . GHF. NPTHTE; 3. BERRSE0VERSTREP4138,
-ﬂﬂ tﬂﬂ —HLM,I tttl- -dﬂ He fGE
; 7% (mm) BK | BT
MSG-S MTG-S  MGD-S MGC-S MGCD-S M E(mm) EanE BrE  fB 8
=E]D_Em _H]@'E]E' % %— 20 |10 15 20 25 30 40 50 60 75 80 100 125 150 175 200 201~500 500 800
25 |10 15 20 25 30 40 50 60 75 80 100 125 150 175 200 250 300 |301~500 [500 | 800
MG (32 [10 1520 2530 40 50 60 75 80 100 125 150 175 200 250 300 |301~500 (500 |800
MGC 40 {10 15 20 25 30 40 50 60 75 80 100 125 150 175 200 250 300 |301~500 |500 800
B A 50 |10 15 20 25 30 40 50 60 75 80 100 125 150 175 200 250 300 |301~500 [500 |800
AR 63 110 15 20 25 30 40 50 60 75 80 100 125 150 175 200 250 300 |301~500 500 800
s 20 10 15 20 25 30 40 50 60 75 80 100 125 150 175 200 250 300 |- 300 |-
T TSR, 25 110 15 20 25 30 40 50 60 75 80 100 125 150 175 200 250 300 | — 300 |-
2. EEBHRERFEABIGE, RYRE, BEBIE; MGD 132 110 15 20 25 30 40 50 60 75 80 100 125 150 175 200 250 300 |- 500 |-
3. MEESEEALES, TR RINROES, MGCDl40 110 15 20 25 30 40 50 60 75 80 100 125 150 175 200 250 300 | 500 |-
~ o e 50 |10 15 20 25 30 40 50 60 75 80 100 125 150 175 200 250 300 |- 500 |-
4. Aié “““K%ﬂ?*mﬂu B a%_\f% ’*@}ﬁq%; 63 |10 15 20 25 30 40 50 60 75 80 100 125 150 175 200 250 300 |- 500 |-
5. IBAHBHEEATHE, RES, NEH; 20 |10 15 20 25 30 40 50 60 75 80 100 125 150 - _ =
6. TERBNRIZEMNTIHZEREFH, MSG 25 {10 15 20 25 30 40 50 60 75 80 100 125 150 - - -
MTG 135 (10 15 20 25 30 40 50 60 75 80 100 125 150 - - =
40 |10 15 20 25 30 40 50 60 75 80 100 125 150 - - -

DE EERRITIEFRADTH R,

EATHE 11
MG 20x100 S FA [J
DOMEREE QHE Q7 @A RE GEEBR (2] |©FE KRR (3]
MG: KIMBATEER) iz R 0. WEEHLE
MGC: IR MG 120 FA. SEREBIR
(EEEETRE MSG 125 LB: MOEER |
MSG: HKIMRELESPBI) 0£1] | MTG 132 e seey. iR | CB: EHERM =8: P14
MTG: KIMSBELEEENS|AR) MGD 140 SRR S. WG SDB: REBEER |G: G%%
! : T: NPT
MGD: ¥IRREL(EE e E)a) MGC 120 25 700, ML
MGCD: X{EL MGOD 132 40 FA: ABEEIR
(EWmEMNERFIR) '50 63 LB: #EEEL

1] ERPHARISBRMSEMBL, NE

BIS|IANBIBERNEEMED, BB
2] ZEMHE2EP100~1018, SDBMIERALEBHA,
[E3] EEERMFE, IBERIFRZ,

EBENEE, RS SEMEBEENNIFR TBOENL
BEWENE, BRESENEEEERNUNDIER T BREL
FREECBEC S M;




7 55 8 3% {8 98 AIl'TALC

MGZZ5I

NEBEERETETHME
MG @ 060 G i & nE R & nH
? s a0 7 | @ BB
i 2 | NUEOS NBR 8 S BEE
J‘L [ 3| mE WEZ A 9 | BEN | SiCERBHERE
1 R . 4 | fERA TPU 10 free RSt i
H L1 | 5 | BEOS NBR 1| B Bo%
; 6 | mMBE WER A
6 © ©
ShEBIR IR
MG  ©20-~040 A+{T12
AB AC+{T#2 MA
MA |PA 2-P PB|
H |y |
52 i |
o3 U—'?E':‘*H ol D 7705
>
ot O | 51
FA L]
EA
EB
MGC ©20~063 B
EEHEIR
e L
FIE\FFSR | ERTIREE RTEEE A AB AC B D E EA EB| F FA
20 <200 201~500 | 106(114) | 35 69(77) 24 | 8 M8x1.25 16.56 118 | 12 6
25 <300 301~500 | 111(119) | 40 69(77) 29 10| M10x1.25 | 205 |22 | 17 6
32 <300 301~500 | 113(121) | 40 71(79) |35.5(12| M10x1.25 | 20.5 22 | 17 6
40 <300 301~500 | 130(139) | 50 78(87) 44 |16| M14x1.5 28.5 130 19 8
50 <300 301~500 | 150(162) | 58 | 90(102) | 65 |20| M18x1.5 33.5 | 35| 27 11
63 <300 301~500 | 150(162) | 58 | 90(102) | 69 | 20| M18x1.56 | 33.56 |35 | 27 11
. P PA PB
HEER H = AL L MG MGC MG MGC MG MGC g U
20 6 M4 x 0.7%7 14 12| 2 |PT1/8 | M5x0.8 | 11.5(14) | 14(16.5) 8 10 |26.5|22.5
25 8| Mbx0.8%7.5 |16.5/14| 2 | PT1/8 PT1/8 [11.5(14.5)|11.5(14.5)| 8.6 | 8.5 |31.6|24.5
32 10| M5x0.8%27.5 20 (18] 2 | PT1/8 PT1/8 12(14.5) | 12(14.5) | 9.5 | 9.5 /38.5/30.5
40 14 M6x1.0%212 26 25| 2 | PT1/8 PT1/8 13(13.5) | 13(13.5) 12 12 |47.5| 35
50 18| M8x1.256%%16 | 32 (30| 2 - PT1/4 - 16.56(22.5)| - 13 |58.5/40.5
63 18] M10x1.5%%16 | 38 32| 2 - PT1/4 — 16.5(22.5)| - 13 72 |47.5

DEI M ARAKRHINCRIER; () PHERKRIEZRT.




7 55 8 3% {8 98 AIl'TALC

MG# 3l

MSG ©20~040

A+T12
AB AC+{T12 MA
MA_ | PA P PB
H T Y
e o
esl ' all O;
Rl — 1P
e - | o1
FA|
EA
EB
MTG ®©20~®40 A+{TI2 x 2
AB+{712 AC+Ti2
PA P PB
- ok |
Ll |
W }
LB\ SR A AB AC B D E EA EB F FA/H K KB/ M MA P PA [PB| R
1~50 | 51~100 [101~150 1~50 | 51~100 |[101~150
20 131 156 181 35 94 119 144 24 | 8| M8x1.25 |16.5| 18 (12| 6 | 6 | M4x0.7%7 | 14 12| 2 |[PT1/8/11.5/ 8 |26.56
25 136 161 186 40 94 119 144 29 |10/ M10x1.25/20.5| 22 |17, 6 | 8 |[M5x0.8%7.5/16.5/14| 2 |PT1/8/11.5/8.5|31.5
32 138 163 188 40 96 121 146 |35.5(12/M10x1.25/20.5| 22 [17| 6 |10/ M5x0.8%87.5| 20 |18, 2 |PT1/8 12 |9.5/38.5
40 155 180 205 50 103 128 153 44 16| M14x1.5 |28.5| 30 [19| 8 |14 M6x1.0%212| 26 |25 2 |PT1/8| 13 |12 |47.5
U] g AR A B i A 2 R U 488
MGD ®©20~®40 A+{TI2 x 2
AB AC+T712 AB+{T12
MA_ | PA 2-P PA _MA
H o S | N H
w8\ o[ T v ape]
[s] () _,_\ (=]
o9 . [ ] °2
E""'HEifﬂ | Pz R | PZaN | };” ""'¢§
(5] -, / ©
FA FA
EA EA
EB EB
MGCD ®20~®63
EEREIR M
Il
H e
FI{E\FFSE A AC AB| B D E EA [EB| F FA | H K KB | M MA s e R T
MGD ¥ MGCD | MGD MGCD
20 147,77 | 35| 24 8 M8x1.25 |16.5/ 18| 12 6 6 M4 x 0.7:%7 14 |12] 2 | PT1/8 | M5x0.8 | 11.5 14 26.5 | 22.5
25 157,77 |40 | 29 10 | M10x1.25 |20.5/22| 17 6 8 M5x0.8%7.5 | 16.5 |14 | 2 | PT1/8 PT1/8 11.5 11.5 31.5 | 245
32 159|179 40355 12 | M10x1.25 [20.5/ 22| 17 6 10 | M5x0.8%7.5 20 |18 2 | PT1/8 PT1/8 12 12 38.5 | 30.5
40 187| 87 | 50| 44 16 M14x1.5 [28.5/30| 19 8 14 M6 x 1.0%812 26 |25 2 | PT1/8 PT1/8 13 13 47.5 35
50 218[102 568 | 55 20 | M18x1.56 |33.5|/35| 27 11 18 | M8x1.25%16 | 32 |30 2 - PT1/4 - 15.5 58.5 | 40.5
63 218[102 58| 69 20 | M18x1.56 |33.5|/35| 27 11 18 | M10x1.5%16 | 38 |32 2 - PT1/4 - 15.5 72 47.5

U] i A BN i A e R T 488




7 55 8 3% {8 98

AIl'TALC

MG 2 5l ——Ft 4

Mi 4 2T RS R 51 3%
REMHE EEMIRIEE e1=1
{
STV 4R LB FA SDB CB I iZ5E Y. Y@ CMSG DMSG EMSG
20 F-MG20LB F-MG20FA F-MG20SDB F-MG20CB F-ACQ20I F-ACQ20Y
25 F-MG25LB F-MG25FA F-MG25SDB F-MG25CB
32 F-MG32LB F-MG32FA F-MG32SDB F-MG32CB F-ACQZSI F-ACQ25Y CMSG DMSG EMSG
40 F-MG40LB F-MG40FA F-MG40SDB F-MG40CB F-ACQ32 F-ACQ32Y
50 F-MG50LB F-MGB0FA F-MG50SDB F-MG50CB
63 F_MG63LB F-MG63FA F-MG63SDB F-MG63CB F-ACQs0l F-AcQsoY
M 44 3% B2 ft 4 #1 &
REMH AEF IR BRESE REHE EETIRIEE
I\ Il o 4
RERSNHERR — 52 | spB | cB I Y |CMSG|DMSG|EMSG MR e FA (spB | CB | | Y
MG | IR¥ER ® ® ° ° ° [ X X x 20 25 A [®) A A O [l
MGC | [lyfgA ° ® ° ° ° ® ° ° ° 32~63 A ) A A O &
MSG | 1R%ER [ ® ® ® ° ® x x x A——SPCC; O—igiE,; [——S45C; O——imifio
MTG | Al ° ° ° ° ° ° ° ° °
MGD S E AU [ ) ) X X ® [} X X X
MGCD| Pt a ° ® x x ° ® ° ° °
Mt 44 5b BB 3R 4%
LB FA\FB
i FT
} FA F
i i g !
T ; N 4-OFD
2-0LC g !
RERTH35L O 1
W] = i | -
X, Y Y[LX M |
z LS+{712 | e
224312 3 8
| -—- o
i e
| : lr
3 224382
ET{E\TF5E Z£1T1285@ R{17#2%ME B C LC|LD LH LS LT |LX EI{E\TTSE £ 1Ti286@ R{7#2%ME B E F FX FD FT | H 7z
20 <200 |201~500 |34 275 4 | 6 | 20 |45(53)| 3 | 32 | 20 <200 |201~500 /40 12| 2 |28|55/| 6 35| 112(120)
25 <300 |301~500 385 30| 4 | 6 | 22 45(53)| 3 | 36 | 25 <300 |301~500 44 14| 2 [32|55| 7 |40 118(126)
32 <300 |301~500 45 355 4 | 7 | 25 | 46(54) | 3.5 | 44 ! 32 <300 |301~500 |53 18| 2 |38|65| 7 (40| 120(128)
40 <300 |301~500 545435 4 | 7 | 30 52(61)| 3.5 54 | 40 <300 |301~500 |61 /25| 2 |46|65| 8 50| 138(147)
50 <300 | 301~50070.5/50.5| 5 | 10 | 40 | 55(67) | 4.5 | 66 3 50 <300 |301~500/76/30| 2 |58 9 | 9 58| 159(171)
63 <300 | 301~500 (825 64 | 5 | 12 | 45 |55(67) | 4.5 | 82 | 63 <300 |301~500 92 /32| 2 70| 11 | 9.5 |58[159.5(171.5)
HEWH® LZ M W X[V |Z 2z CBEH 0 PREREFRZRY.
20 | 442810 15| 7 | 47| 110(118) |
25 |49 3510 | 15| 7 | 52 | 115.5(123.5) i
32 58 |35 10| 16 | 8 |52.5] 117.5(125.5) 3
40 71 4 | 10]16.5/85] 63| 135(144) |
50 86 | 5 |17.5| 22 | 11 |75.5| 157.5(169.5) |
63 |106| 6 |17.5/ 22 | 13 |75.5| 158.5(170.5) 3
DE () PYBERENTECRY, i



7 55 8 3% {8 98 AIl'TALC

MG 2 5l ——Ft 4

cB - gE
cz | F+0.1 SRH
‘DC¢0.1‘ 1T L | RR_ ocD g }\
| | w -
© | © 0 W ; 5
N . . ! <
L . 954 : r W 0
| i O
Ny ! D{
@ Ol 1 Ko X
I | A— Z+1712 }
1Z ‘ :

HR | mERsE | RTE&E | C (cD[cz| L [RR[TT [TV | 1z 2 | BIgREFM(A[B| C [DEJ F G H I
20 <200 201~500 | 14 | 8 |29 |14 | 11 [ 25|41 | 46 | 118(126) ' F-ACQ20134|25(13.5(8.5 8 | 7.7 | M8x1.25 |10.3| 16
25 <300 301~500 | 165 10 | 33 | 16 | 13 | 256 | 44 | B0 | 125(133) | F-ACQ25I|/41/30/ 16 |11]10/9.7 /M10x 1.25(/12.8] 20
32 <300 301~500 | 20 [ 12 [ 40 [ 20 | 156 | 3 | 54 | 60.5 | 131(139) | F-ACQ321[42(30| 16 |14/10[17.6] M14x1.56 | 12 |22
40 <300 301~500 | 26 [ 14 [ 49 | 22 [ 18 | 3 | 63 | 695 | 150(169) | F-ACQB0I|56]40 20 [18|14(21.6| M18x1.5 | 16 | 28
50 <300 301~500 | 32 | 16 | 60 | 25 | 20 | 4 | 77 | 83 | 173(185) |
63 <300 301~500 | 38 |18 | 74 | 30 | 22 | 4 | 95 | 103 | 178(190) !

I () PEERRITEZR Y, |

SDB(+CB) i

| _| Iy
: o K\
e 3
fjf; S | D+0.12
J | ! 1O
4-0TF o E : A1 R
= ! ]
] : [ i < |

X 3 o
TV T | L
1z Z+312 | LG

- | oH

7Z+(712 |
3 F-ACQ32Y. F-ACQS0Y

HEEsEE T RaERTEEE/cD|cz [ TE[TF [TH[TT| TV [TW[TX[TY|[ T2 | Z 7z N
20 <200 |201~500 | 8 [29 /10|5.5/25|2.5/40.5 42|16 28| 46 |118(126)[139(147) | \"ah
25 <300 |301~500 10|33 |10/5.5/30|2.5(43.5/42 20|28 50 |125(133)|146(154) |
32 <300 |301~50012|40/10/6.5/35| 3 [53.5/48|22|28/60.5/131(139)[155(163) J
40 <300 | 301~500 |14 /49 10/6.5/40| 3 [62.5/56 30|30 |69.5/150(159)[178(187) ! g
50 <300 |301~500 16|60 /20| 9 |50| 4 | 76 |64 36|36 83 |173(185)[205(217) | Ds01 I
63 <300 |301~50018|74[20/11/60| 4 | 94 |74|46|46[103/178(190)|215(227) | LS

[F] SDB&REELRMABMEPIN; () DHERRTEZR Y. | |: ‘

! |

101

LG

©H
BSRESR | A B D E F G
F-ACQ20Y | 34 | 25 | 83 | 8 | 85| M8x1.25
F-ACQ25Y | 41 | 30 |10.3| 10 [10.5| M10x1.25
F-ACQ32Y | 42 | 30 |18.4| 10 | 16 M14x 1.5
F-ACQ50Y | 66 | 40 |22.4| 14 | 20 M18x 1.5
B H | 1 | J [PA|PB|PC|PD|PE]|PF
F-ACQ20Y | 15 | 16 - 116.3| 1.5 7 8 09| 21
F-ACQ25Y | 19 |20 | - [203] 2 | 8 | 10| 1.1 |26.4
F-ACQ32Y | 22 | 22 | 36 |36.3] 2 | 8 | 10 | 1.1 [42.4
F-ACQ50Y | 28 | 28 | 44 |44.3| 2 12 14 |1 1.1 |50.4




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6

